S 151 i

—
o

FHHAE JiES B’O( ) ®+fEPRE—E2—XI—)L Ta.0176-23-6301 1284 g@x
F2[ | xH HETEL EEF b i
E 01]02[03]04]05/06[07]08]09] 10111213 14[15]16]17]18]19]20]21]22]23[24]25]26]27]28]29]30] 314
e | % ||+ [ A|A|K|[K|K|E[E[B[A[X[K[KR[E[L[BA[K|K|X[&|[L[B[A|X|K[KX|[£2[£[A|F0O
1020 | IRRERE | 18 | 2| | B|%| [B|%|%B Bl (ZF B[ (| BB (=] [E|%]#&
13:20 | EEEER | R i = i & i i iR iR
FIHE e
09:20 [ E2H=E &
EREES &%
Z1H= 20 25 2223242526 | 25 234525 6| 7]8)]9]10]|25 15]16 | 17 18 =
10:20 [ 2B E »
EXEES B i | i e = A
EIEES 26 1 26 1 26 1 26 1 P
11:20 | 2% = N
— EIRE B B & e e E e BEE e :;;r
F1H=E | ]| 8 9110|1516 17]| 18 19]20]22] 23] 24 25/26| 2 | 3| 4|5 67189 2’:%}
13:20 | 2B = HILE
EREEd < B
E1H= 18 19 20222324 2 | 3 4] 56|78 9 10| 15|16 1718 19] 20 221 23 fii'l
14:20 | E2% = @ @ @ @ @ @ @ ® fg &
EXENES TE 7
Zi1H=E | 20 21 21 21 21 21 21 21 21 21 Y
15:20 [ E2HK = ® @ =%
EXEES & & T3
E1H= | 9 |10 234|567 8910 2| 3 456|789 0] 2 | 3 = °
16:20 | 2% = 1 1 1
EIBE & & L
17:30 | 1% = [19] 20 2502622232415 16 [ 17]18]19] 20 2223124125126 2 3145 T
tiEFl| F2HE @ & () @ 1 @ @1 @ @ = @ LY
(17:20) | EE3%=E & ] IR AR ! = = B T
Z1H= | 23 281 2 (345 25126 7 6 819 10/15]16 17]25] 26 *
18:30 | FE2&H = BB e ] = = ] X
EXEENE AR AR AR AR AR L)
F1HZE | 3 4156|718 9 [10]15]16 17]118]19]207] 22 23124125 o
19:30 | 2% =E | 1 1111171 11111 111111 1111
FIHE B i & i =

* FFEFE-—BREOFR., FFEE_BEEOFRERLET,
* [E] 1%, BEREMRE (FR) ORETY. AF&. COREEZZITEEET,

ZTD%R, KROBEET-oTREET,
* TiE] X, BEETA b (FR) OFEICGYEY, SBRERTETIC, 2RUEEHEL. ENAZHTTEREET,

&) (&, ZEESE (RR ETLES,

(BR % f#BRER <)

*HEE12 - 13- 14 TGAKELBHE
QORI HESE L CIREZELTEEET,
*tzv hEE
HEEHE CHE., E5 L CEET 2ERETETVET,

(AREITER)



